INSTALLATION GUIDE FOR DOCUMENT FINISHER

GUIDE D’INSTALLATION DU RETOUCHEUR DE DOCUMENT
GUIA DE INSTALACION PARA EL FINALIZADOR DE DOCUMENTOS
INSTALLATIONSANLEITUNG FUR DOKUMENT FINISHER

GUIDA ALLINSTALLAZIONE DI FINITRICE DI DOCUMENTI

FXa A4y v HREFIESE







[

‘ l

AK-71C

J

Supplied parts

A Document finisher ..........ccccooveeviieiiee i 1
B Latch catch.
C Rail retainer
D Guide rail ......cccoeeiieiiiieeeeee s

Binding screw M4 x 6 ... .
Binding screw M4 X 10........ccccoeiiiiiiicniiees
Clamp

(Not used for full-color machines)................. 1
Fixing plate F .......coocvveiiiiiiiins

Fixing plate R..........
S Tite screw M4 x 8
Curl eliminator

Xe—TI ®OTMmM

For installing the document finisher to a full-
color machine, parts (H), (1), and (J) above
supplied with the job separator are needed.

For full-color machines, two pieces of (F) are not
used.

For monochrome machines, part (K) is needed
separately.

(for monochrome machines AK-71C)........... 1 For full-color machines, part (K) is not needed.
Vis de raccordement M4 x 6 ................c..c... 4 Pour installer le retoucheur de document sur
¢ Vis de raccordement M4 x 10 ...................... 4 une machine entiérement en couleurs, il faut

Piéces fournies

A Retoucheur de document..........ccccccoveviieenen
B Pontet du loquet .................
C Elément de rétention du rail ..
D GISSIEIre ....veeevieeiiie et

Bride(Non utilisé pour les machines
entiérement en couleurs)...........ccoocuveeeeeennn,
Plaque de fixation avant...
Plaque de fixation arriére . .
Vis S Tite M4 X 8....cooiiiiiiiiiiiciee e
Elément d’élimination des boucles (pour

les machines monochromes AK-71C).......... 1

Xe—TI GOmm

utiliser les pieces (H), (1), et (J) ci-dessus
fournies avec le separateur de travaux.

Sur les machines entiérement en couleurs, deux
pieces de (F) ne sont pas utilisées.

Sur les machines monochromes, il faut utiliser la
piece (K) séparément.

Pour les machines entiérement en couleurs, la
piece (K) n’est pas nécessaire.

Partes suministradas

C Retén del carril ..
D Carril QUIa .....ccueeiiieiiieiee e

Tornillo de sujecion M4 x 6.............ccceeeeenne.
Tornillo de sujecion M4 x 10
Abrazadera

(No utilizado para maquinas a todo color)....1
Placa de fijacion F.........cccooceioiinieniiniccee
Placa de fijacion T......
Tornillo S Tite M4 x 8
Eliminador de enrollado

(para maquinas monocromaticas AK-71C)...1

Xe—TIT @OTMmM

Para instalar el finalizador de documentos en
una maquina a todo color, son necesarias las
piezas (H), (I) y (J) anteriores entregadas con el
separador de trabajos.

Para las maquinas a todo color, no se utilizan
dos piezas de (F).

Para las maquinas monocromaticas, es
necesario por separado la pieza (K).

Para las maquinas a todo color, la pieza (K) no
es necesaria.

E Verbundschraube M4 x6..............cccoeennnne 4 Fir die Installation des Dokument Finishers an
F Verbundschraube M4 x 10............ccccceveunnnnne. 4 einer Vollfarbenmaschine werden die mit dem
G Klemme ) Jobtrenner gelieferten obigen Teile (H), (1) und
Gelieferte Teile (Nicht fur Vollfarbenmaschinen verwendet)..1 (J) benatigt. ‘ o
A Dokument Finishers 1 H Fixierplatte F Fir Volifarbenmaschinen werden zwei Teile von
A DOKUMENL FINISNEIS .o ! | Fixierplatte R ) (F) nicht benutzt
C Schgi}enenhalterun seinheit A J S-Tite-Schraube M4 x 8.............ccocommvvvvrenen 4 Fiir Monochrommaschinen wird Teil (K) getrennt
.. erungseinneit. K Glattungseinrichtung vn
D Flhrungsschieneneinheit............................. 1 (fiir Monochrommaschinen AK-71C) 1 benétigt.
"""""" Fur Vollfarbenmaschinen wird Teil (K) nicht
bendtigt.
E Vite diserraggio M4 X 6 .........c.cccevvvevennnnne. 4 Per I'installazione della finitrice di documenti su
'c:; \I\//Iite dittserraggio M4 %10 4 una macchina a colori, sono necessarie le
orsetto . . suddette parti (H), (1) e (J) fornite in dotazioni
Parti fornite (Non utilizzato per le macchine a colori)....... 1 con il separatore dei lavori.
A Finitrice di dOCUMENti ............cccccovscccre... 1 H Piastra di fissaggio .. -1 Per le macchine a colori, due pezzi di (F) non
B Dispositivo di arresto ... A 5 \P/;feStSraT(ijtg'E&aggéo R. 1 sono utilizzati.
C Fermo della guida..... | e LD e e Per le macchine in bianco e nero,
D Guida della rotaia ...........ccc..ooveereeeereererenn. 1 K E'mg‘fctgrg’ géféeAQE%(fg; le macchine 1 separatamente & necessaria la parte (K).
""""""""""""""" Per le macchine a colori, la parte (K) non e
necessaria.
k3T (B)M4 x O BEIRET oo 4 RO LRI RN, TR S
(F) M4 x 10[E 451257 4 MR ERE, O, OB,
W B & (GIEM@EEN LA w1 %%ﬁ’fﬂﬁ#(F)iUTM‘ﬁi‘%ﬁﬂu
E'FTn%ﬁ 1 (03 ETAEE 78 S .1 HEHLIN 53 51 2 22 B (KRR
B SN T T S— 1 SRS, T B,
(COBHE...... T () SEETBRETMA X 8S o 4
OVR I 1 (KW 2 1 &R -CB A AL AK-71C). w1
E EAM X6/ 1K oo, 4 TNAT—HEZRHF 2 A T 4=y vy &)
o F EAMXI03f K oo 4 VAT BB Y a TR AL —ZITAET S L
a G 7707 it () (D). (J) DHKETT,
TR (INHT—HETITEALEEA) ... 1 TNAT—HETI, (F) 3 2 AR 0 £,
A FFaAs 7=yl 1 H BB P 1 £/ 7 ok T, K BHR0LE T,
B ZoFZM. ..o 1 T BEEM Reoee e 1 TNH T —HETIE, K IERETT,
C L= VI oo 1 JERMAXESHA D oo 4
D HARL— b 1 K h—7—(%/ 7 vl AK-710)..... 1




When installing the document finisher to a full-
color machine, install the job separator in
advance.

Be sure to turn the MFP main switch off and
disconnect the MFP power plug from the wall
outlet before starting to install the document
finisher.

[Steps 1 to 4 below are only for full-

color machines.]

1. Place the document finisher (A) sideways,
remove the eight screws (1), and remove the
two pieces of fittings (2).

. To align the document finisher with the paper

outlet of the MFP, slide the legs of the
document finisher (A) to the uppermost
positions indicated in the illustration, attach
the two pieces of fittings (2) that have been
removed in step 1, and secure them using
the eight screws (1).

Pour installer le retoucheur de document sur
une machine entierement en couleurs, installer
le séparateur de travaux préalablement.

Veiller a bien mettre I'interrupteur principal du
MFP hors tension et a débrancher la fiche
d’alimentation du MFP de la prise murale avant
de commencer l'installation du retoucheur de
document.

[Les étapes 1 a 4 ci-dessous

concernent les machines entiérement

en couleurs seulement.]

1. Placer le retoucheur de document (A) sur le
coté, retirer les huit vis (1), et retirer les deux
piéces de fixation (2).

. Pour aligner le retoucheur de document sur

la sortie de papier du MFP, faire glisser les
pieds du retoucheur de document (A)
jusqu’aux positions les plus hautes
indiquées sur l'illustration, fixer les deux
piéces de fixation (2) qui avaient été retirées
auparavant a I'étape 1, et les fixer a I'aide
des huit vis (1).

Cuando instale el finalizador de documentos en
una maquina a todo color, instale el separador
de trabajos por adelantado.

Asegurese de apagar el interruptor principal del
MFP y de desconectar la clavija de alimentacion
del MFP de la toma de corriente de la pared,
antes de empezar a instalar el finalizador de
documentos.

[Los pasos 1 a 4 a continuacién son

solo para maquinas a todo color.]

1. Apoye el finalizador de documentos (A)
sobre un lado, saque los ocho tornillos (1) y
saque dos piezas de herrajes (2).

. Para alinear el finalizador de documentos

con la salida de papel del MFP, deslice las
patas del finalizador de documentos (A) a
las posiciones superiores indicadas en la
figura, instale las dos piezas de herrajes (2)
desmontadas en el paso 1y asegurelos con
los ocho tornillos (1).

Wenn Sie den Dokument Finisher an einer
Vollfarbenmaschine installieren wollen, muss
der Jobtrenner vorher installiert werden.
Schalten Sie den MFP-Hauptschalter aus, und
ziehen Sie den MFP-Netzstecker von der
Netzsteckdose ab, bevor Sie mit der Installation
des Dokument Finishers beginnen.

[Die folgenden Schritte 1 bis 4 gelten

nur fir Vollfarbenmaschinen.]

1. Den Dokument Finisher (A) auf die Seite
legen, die acht Schrauben (1) entfernen, und
die zwei Befestigungsteile (2) abnehmen.

. Um den Dokument Finisher auf den

Papierauslass des MFP auszurichten, die
Beine des Dokument Finishers (A) auf die in
der Abbildung gezeigte oberste Position
schieben, dann die zwei in Schritt 1
entfernten Befestigungsteile (2) anbringen
und mit den acht Schrauben (1) befestigen.

Quando si installa la finitrice di documenti su
una macchina a colori, installare prima il
separatore dei lavori.

Prima di dare inizio alla procedura di
installazione della finitrice di documenti, non

mancare di spegnere 'MFP usando l'interruttore

principale di alimentazione e disinserire la spina
del’MFP dalla presa a muro della rete elettrica.

[I seguenti passi da 1 a 4 sono solo

per le macchine a colori.]

1. Collocare la finitrice di documenti (A)
lateralmente, rimuovere le otto viti (1) e
rimuovere i due pezzi di raccordo (2).

. Per allineare la finitrice di documenti con

I'uscita della carta del’MFP, fare scivolare i
piedini della finitrice di documenti (A) sulle
posizioni piu in alto indicate nel disegno,
montare i due pezzi di raccordo (2) che sono
stati rimossi nel passo 1 e fissarli utilizzando
le otto viti (1).

TERRON L ZASG TR, ROTRmll B,
LR AR, /B H O MEP EALAY S LR

FKefs IR MEP ALK VL P Sk M JFR R b 4A 4,

(B ~ 4R FEF BN

L. BT e AR e, HTF8NMRET(D),
WE, BUF2AEEMQ.

T RHEFEVHEAR D, oA IT AR UL
T S die LT A7 B Cn ) BT s B 4 ),
RIG, LA BRUCT B2 [ 2 1),
FHSABRET ML 72,

TINAT—HEIRF 2 A N7 4=y ¥ B
DA BABRICIE RBICY a TN —Z AR
THZ L,

FXxa AV b7 4=y vy 20 1T 58I,

WP MFP AR D A A > A A F % OFF |2 L MFP

KEDERTZ 7o L THEEERB ) 2
&

[FIE1~4ETILA5—HDH ]

1. R¥a XA b7 0=vix (\) 2Hmxics
. A (D8AEHALEHEEE 2)210%
B 449,

CABABEH P A DDA, Fda X b

74 =y (A) OME R EOALE (KO
E)ETATA P FIH1T TRV S LI
BEEeR (22 HEBY 1T, 2 (D8AT
EET 5,




- J

3. Fit the fixing plate F (H) and the fixing plate
R (I) to the latch catch (B) using an S Tite
screw M4 x 8 (J) for each.

J

5

".'."‘l;‘n

q ﬁ.:.h";“n

[N W‘z’;};\~

)|
2]
S~

'.g“ g / /

, ) q
2199
"'i.':‘,ﬁ;‘ﬁ-’&a

4. Fit the latch catch that has been assembled
in step 3 to the left cover (3) using the two S
Tite screws M4 x 8 (J).

(Proceed to step 7.)

[Steps 1 to 6 below are only for

monochrome machines.]

1. Open the eject cover (1) of the MFP.

2. Remove the two screws (2) securing the
feedshift guide assembly (3) and then the
assembly.

3. Fixer la plaque de fixation avant (H) et la
plague de fixation arriére (l) sur le pontet du
loquet (B) a I'aide d’une vis S Tite M4 x 8 (J)
pour chaque plaque.

4. Fixer le pontet du loquet qui avait été monté
auparavant a I'étape 3 sur le couvercle
gauche (3) a l'aide des deux vis S Tite M4 x
8 (J).

(Passer a I'étape 7.)

[Les étapes 1 a 6 ci-dessous

concernent les machines

monochromes seulement.]

1. Ouvrir le couvercle d’éjection (1) du MFP.

2. Retirer les deux vis (2) fixant I'assemblage
de la glissiére d’alimentation (3) puis retirer
I'assemblage.

3. Coloque la placa de fijacion F (H) y la placa
de fijacion T (1) en el cerrojo (B) utilizando un
tornillo S Tite M4 x 8 (J) para cada una.

4. Coloque el cerrojo armado en el paso 3 en la
cubierta izquierda (3) usando los dos
tornillos S Tite M4 x 8 (J).

(Vaya al paso 7.)

[Los pasos 1 a 6 a continuacién son

sélo para maquinas monocromaticas.]

1. Abra la cubierta de expulsién (1) del MFP.

2. Quite los dos tornillos (2) que aseguran el
ensamble guia de la unidad de cambio de
alimentacion de papel (3) y luego el
ensamble.

3. Die Fixierplatte F (H) und die Fixierplatte R
(I) mit je einer S-Tite-Schraube M4 x 8 (J) an
der RiegelschloRbausatz (B) anbringen.

4. Die in Schritt 3 zusammenmontierte
RiegelschloRbausatz mit den zwei S-Tite-
Schrauben M4 x 8 (J) an der linken
Abdeckung (3) anbringen.

(Zu Schritt 7 Gbergehen.)

[Die folgenden Schritte 1 bis 6 gelten

nur fur Monochrommaschinen.]

1. Offnen Sie die Auswurfabdeckung (1) des
MFP.

2. Entfernen Sie die zwei Schrauben (2), die
den Zufihrungswechsel-Bausatz (3)
befestigen und dann den Bausatz.

3. Montare la piastra di fissaggio F (H) e la
piastra di fissaggio R (1) al dispositivo di
arresto (B) utilizzando una vite S Tite M4 x 8
(J) per ciascuno.

4. Adattare il dispositivo di arresto che ¢ stato
montato nel passo 3 sul pannello a sinistra
(3) utilizzando le due viti S Tite M4 x 8 (J).

(Proseguire al passo 7.)

[I seguenti passi da1 a 6 sono solo

per le macchine in bianco e nero.]

1. Aprire la copertura dell'uscita carta (1)
dellMFP.

2. Rimuovere le due viti (2) che fissano il
gruppo di guida di cambio alimentazione (3)
e quindi il gruppo.

3. EREERRSCR®) L, 2ol 1A B RET
M4 x 8S(I)IE] 72 8] & B FE) I 1E AR R (D).

4. e BRI FEFAR SO H2A SR I AT
M4 x 8S(NZHAL/E #MRB) L,
BAE LT

[$81~6 R TFEAM
1. FEMFPELAY H 4R FAR (D $TFF.
2. ?i?ﬂ/l%d\ﬂgﬂ Q) T, ks A

3. T v TFZIFR B) I EHEKR FMH) & EER
R(I) Z#E A M4 X 88 ZA k (]) % 1 ATH
ET 5,

4. FNE 3 THAL T T v FZITREE A M
X 8 HA K (J) 2ARTHEA/N—(3) IZHDH
11 %,

(FhE 7 (2ETe)

[FIET1~61FFE/O#0H]

1. MFP RIROHEH 73— (1) ZBA<,

2. BRX Q)2 KEI L I HT A RFSE (3) %
v &4,




3. Fit the curl eliminator (K) to the eject cover
(1) such that the projections (4) on the cover
fit into the two ends of the curl eliminator (K).

4. Secure the curl eliminator (K) using the two
screws (2) removed in step 2.

5. Close the eject cover (1).
6. Fit the latch catch (B) to the eject cover (1)
using two M4 x 10 binding screws (F).

. Align the rail retainer (C) with the groove of

the guide rail (D) and attach the rail retainer
(C) to the guide rail (D). Make sure that the

plate spring (4) of the rail retainer (C) fits into
the groove and the edge of the guide rail (D)
fits between the pulleys on the reverse side

of the rail retainer (C).

3. Fixer I'élément d’élimination des boucles (K)
au couvercle d’éjection (1) de telle fagon que
les projections (4) du couvercle s’insérent

dans les deux extrémités de cet élément (K).

4. Fixer I'élément d’élimination des boucles (K)
a l'aide des deux vis (2) retirées a I'étape 2.

5. Fermer le couvercle d’éjection (1).

6. Fixer le pontet du loquet (B) au couvercle
d’éjection (1) a I'aide de deux vis de
raccordement M4 x 10 (F).

. Aligner I'élément de rétention du rail (C) sur

le sillon de la glissiére (D) et le fixer a
I'élément de rétention du rail (C) a la
glissiere (D). Veiller a ce que le ressort de
plaque (4) de I'élément de rétention du rail
(C) s’adapte au sillon et que I'extrémité de la
glissiére (D) puisse passer entre les poulies
sur le coté opposé de I'élément de rétention
du rail (C).

3. Coloque el eliminador de enrollamiento (K)
en la cubierta de expulsion (1) de modo que
las proyecciones (4) de la cubierta encajen
en los dos extremos del eliminador de
enrollamiento (K).

4. Asegure el eliminador de enrollamiento (K)
usando los dos tornillos (2) que quito en el
paso 2.

5. Cierre la cubierta de expulsion (1).

6. Coloque el cerrojo (B) en la cubierta de
expulsién (1) usando dos tornillos de
sujecion M4 x 10 (F).

. Alinee el retén del carril (C) con la

acanaladura del carril guia (D) y anexe el
retén del carril (C) al carril guia (D).
Asegurese de que el resorte de la placa (4)
del retén del carril (C) encaje en la
acanaladura y que el borde del carril guia
(D) encaje entre las poleas del lado inverso
del retén del carril (C).

3. Bringen Sie den Wellenverhinderer (K) so an
die Auswurfabdeckung (1) an, daf} die
Vorspriinge (4) auf der Abdeckung in die
zwei Enden des Wellenverhinderers (K)
passen.

4. Befestigen Sie den Wellenverhinderer (K)
mittels der in Schritt 2 entfernten zwei
Schrauben (2).

5. Schliessen Sie die Auswurfabdeckung (1).

6. Bringen Sie den RiegelschloRbausatz (B)
mittels der zwei M4 x 10 Verbundschrauben
(F) an die Auswurfabdeckung (1) an.

. Richten Sie die Schienenhalterungseinheit (C) mit

der Rille der Flihrungsschieneneinheit (D) aus, und
bringen Sie die Schienenhalterungseinheit (C) an
die Fuhrungsschieneneinheit (D) an. Stellen Sie
sicher, dal® die Tellerfeder (4) der
Schienenhalterungseinheit (C) in die Rille pafit und
die Kante der Fiihrungsschieneneinheit (D)
zwischen den Seilzligen auf der Riickseite der
Schienenhalterungseinheit (C) sitzt.

3. Inserire 'eliminatore degli accartocciamenti
(K) nella copertura dell’'uscita carta (1) in
modo tale che le proiezioni (4) sulla
copertura siano inserite nelle due estremita
dell’eliminatore degli accartocciamenti (K).

4. Fissare I'eliminatore degli accartocciamenti
(K) utilizzando le due viti (2) rimosse al punto
2.

5. Chiudere la copertura dell’'uscita carta (1).

6. Inserire il dispositivo di arresto (B) nella
copertura dell’'uscita carta (1) utilizzando due
viti di serraggio M4 x 10 (F).

. Allineare il fermo della guida (C) con la

scanalatura della guida della rotaia (D) e
fissare il fermo della guida (C) alla guida
della rotaia (D). Assicurarsi che la molla
della piastra (4) del fermo della guida (C) sia
collocata nella scanalatura e che il bordo
della guida della rotaia (D) sia inserito tra le
pulegge sul lato opposto del fermo della
guida (C).

3. KT I B HEAR 9 1 3B (4) 7 A B 46 R (0O
(ﬂﬁ)ﬁiﬁ, BB B i (K 2T AR
D k.

4. ﬂm%zjﬁ% 2 1 W A /INBAT (2) SR [ 28 B 4
H (K .

AR AR (1) K L.

5. %
e.ﬂﬂﬁ/bM:t x 10 [ 459257 (F) K 47K S 28 (B)

FET MG D L.

7. R E E (C) i E S m Pl (D) Y M A
BUIS,  REAs Jr AR (4) 40 AT MR IR S
)il (D) §Y— s A T HUEE (C) A
R SEREZH.

3. FTA—F—(K) OG-l 4) NFED
LT T H—7— K ZHHA A —1) I
B £+ 5,

4 FE2 THLIZER Q)2 KTTH—F—
K) z[EES 2,

5. PEtH A S— (1) ZFAL %,
6. 7y FZIFHK B) ZEA M4 X 10 34 > F
(F) 2 RTHeH A S— (1) 1B £ 5,

1. L=V lfR (C) 24 A N L—/ (D) D

IZEHETIIDiATe,

BSRER (4) PIEOHIZAY | L — VIR
©C) Elozm anpfichA4 RL—/b
(D) DIFBAD X HIZT 5,




- J

8. Orient the guide rail (D) such that its pulley
(5) is positioned toward the MFP.

-

. Secure the rail retainer (C) to the MFP using
two M4 x 10 binding screws (F) such that the
front and the rear gaps between the floor and
the rail retainer (C) are approximately 8.0
mm.

10.

Insert the guide rail (D) into the bottom of the
document finisher (A).

8. Orienter la glissiére (D) de maniere que sa
poulie (5) soit orientée vers le MFP.

. Fixer I'élément de rétention du rail (C) au
MFP a l'aide de deux vis de raccordement
M4 x 10 (F) de maniére que les écarts avant
et arriere entre le sol et I'élément de

rétention du rail (C) soient d’environ 8.0 mm.

10.

Insérer la glissiére (D) en bas du retoucheur
de document (A),

8. Oriente el carril guia (D) de modo que su
polea (5) se encuentre ubicada hacia el
MFP.

. Asegure el retén del carril (C) a el MFP
usando dos tornillos de sujecion M4 x 10 (F)
de modo que los espacios frontal y trasero
entre el piso y el retén del carril (C) sean de
aproximadamente 8.0 mm.

10.

Inserte el carril de guia (D) en la parte
inferior del finalizador de documentos (A).

8. Richten Sie die Flihrungsschiene (D) so aus,

daR die Riemenscheibe (5) zum MFP
ausgerichtet ist.

. Bringen Sie die Schienenhalterung (C) am
MFP mit zwei M4 x 10 Verbundschrauben
(F) so an, daR die vorderen und hinteren
Absténde zwischen Boden und
Schienenhalterung (C) etwa 8.0 mm
betragen.

10.

Die Fihrungsschiene (D) in das Unterteil
des Dokument Finishers (A) einschieben.

8. Orientare la guida della rotaia (D) in modo da

posizionare la puleggia (5) in direzione
del’MFP.

. Assicurare il fermo della guida (C) allMFP
utilizzando le due viti di serraggio M4 x 10
(F), in modo che la distanza anteriore e
posteriore tra il pavimento ed il fermo della
guida (C) sia di circa 8.0 mm.

10.

Inserire la guida della rotaia (D) nella parte
inferiore della finitrice di documenti (A).

8.1 10 HLil (D) 1R FEHE (5) F M MFP E L.

9. JHPI> M4 x 1014 55 $RET(F) ¥ it 4 (C) [ 5

T MFPEAL L. JAf, A O 5 2 [/
BB B R 2 A 8.0 2 K,

10,45 -5 ) BILIE (D) A K 1T # (A ST,

8. A KL— (D) ®»=miff (5) % MFP AR
iz m 5,

9. L— VIR (C) & IRTE ORI RIE 23

8.0mm (2725 X DT, L—/VEUfHK (C) %
MFP A{RIZE 2 M4 X 10 31 > K (F)2 KT
EET D,

10.

FEa2 X b7 0 =v % (A) OJEMIZTA
KL —n (D) ZfAT 5,




Fitting and adjusting the guide rail

11. While pressing the guide rail (D) to the
document finisher (A) so that the gap between
the guide rail (D) and the floor is approximately
10 mm, secure it using two M4 x 6 binding
screws (E).

- J

Note

If the guide rail is not properly adjusted, the
guide rail may not move when the document
finisher is separated.

-

12. Separate the document finisher (A) from the
MFP and secure it using two M4 x 6 binding
screws (E) so that the gap between the
guide rail (D) and the floor is approximately
10 mm.

13.

Loosen temporarily the two screws (7) that secure
the sheet metal (6) of the rail mounting plate (C) on
the MFP, raise the sheet metal (6) by two divisions
of the scale from the guide rail (D), and tighten the
two screws (7).

Note

If the guide rail is not properly adjusted, the
guide rail may not move smoothly or the
document finisher may fall down.

Fixation et réglage de la glissiére

11. Tout en pressant la glissiére (D) contre le
retoucheur de document (A) de fagon que I'écart
entre la glissiére (D) et le sol soit d’environ 10 mm,
I(a ;ixer al'aide de deux vis de raccordement M4 x 6
E).

Remarque

Si la glissiére n’est pas réglée correctement, la
glissiére risquera de ne pas se déplacer lorsque le
retoucheur de document sera séparé.

12.Séparer le retoucheur de document (A) du
MFP, puis le fixer a I'aide de deux vis de
raccordement M4 x 6 (E) de fagon que
I'écart entre la glissiére (D) et le sol soit
d’environ 10 mm.

13.

Desserrer provisoirement les deux vis (7) qui fixent
la feuille métallique (6) de la plaque de montage du
rail (C) sur le MFP, élever la feuille métallique (6)
de deux crans sur I'échelle de la glissiere (D), puis
resserrer les deux vis (7).

Remarque

Si la glissiere n’est pas réglée correctement, la
glissiére risquera de ne pas se déplacer
souplement ou le retoucheur de document risquera
de tomber.

Fijacion y ajuste del carril de guia

11. Mientras presiona el carril de guia (D) en el
finalizador de documentos (A) para que la
separacion entre el carril de guia (D) y el piso sea
de unos 10 mm, asegurelo utilizando dos tornillos
de fijacion M4 x 6 (E).

Nota

Si el carril de guia no esta bien ajustado, el carril
de guia puede no moverse cuando se separa el
finalizador de documentos.

12.Separe el finalizador de documentos (A) del
MFP y asegurelo utilizando dos tornillos de
fijaciéon M4 x 6 (E) para que la separacién
entre el carril de guia (D) y el piso sea de
unos 10 mm.

13.

Afloje temporalmente los dos tornillos (7) que
aseguran la hoja de metal (6) de la placa de
montaje de carril (C) en el MFP, levante la hoja de
metal (6) con dos divisiones de la escala del carril
de guia (D) y apriete los dos tornillos (7).

Nota

Si no se ajusta correctamente el carril de guia, el
carril de guia puede no moverse suavemente o el
finalizador de documentos puede caer.

Anbringen und Einstellen der

Fuhrungsschieneneinheit

11. Die Fuhrungsschiene (D) gegen den Dokument
Finisher (A) gedriickt halten, so dass der Abstand
zwischen der Flihrungsschiene (Dl\/% und dem Boden
ca. 10 mm betragt, und mit zwel M4 x 6
Befestigungsschrauben (E) sichern.

Hinweis

Falls die Fiihrungsschieneneinheit nicht korrekt
eingestellt ist, bewegt sie sich beim Trennen des
Dokument Finishers eventuell nicht.

12.Den Dokument Finisher (A) vom MFP
trennen und mit zwei M4 x 6
Befestigungsschrauben (E) sichern, so dass
der Abstand zwischen der Fiihrungsschiene
(D) und dem Boden ca. 10 mm betragt.

13.

Die zwei Schrauben (7), die das Blech (6) der
Schienenmontageplatte (C) am MFP sichern,
vorubergehend [6sen, das Blech (6) um zwei
Teilstriche der Skala von der Flhrungsschiene (D)
aus anheben, und die zwei Schrauben (7) wieder
anziehen.

Hinweis

Falls die Fihrungsschieneneinheit nicht korrekt
eingestellt ist, bewegt sie sich eventuell nicht
reibungslos, oder der Dokument Finisher kann
herunterfallen.

Montaggio e regolazione della guida della

rotaia

11. Mentre si tiene premuta la guida della rotaia (D)
alla finitrice di documenti (A) in modo che lo spazio
tra la guida della rotaia (D) e il pavimento sia di
circa 10 mm, fissarla a mezzo di due viti di
serraggio M4 x 6 (E).

Nota

Se la guida della rotaia non é regolata .
correttamente, potrebbe non muoversi quando il
separatore la finitrice di documenti verra staccato.

12. Separare la finitrice di documenti (A)
dal’MFP per fissarla a mezzo di due viti di
serraggio M4 x 6 (E) in modo che lo spazio
tra la guida della rotaia (D) e il pavimento sia
di circa 10 mm.

13.

Allentare temporaneamente le due viti (7) che
fissano il foglio metallico (6) della piastra di
montaggio della rotaia (C) del’MFP, sollevare il
foglio di metallo (6) di due posizioni sulla guida
della rotaia (D) e serrare le due viti (7).

Nota

Se la guida della rotaia non & regolata
correttamente, potrebbe non muoversi
scorrevolmente oppure la finitrice di documenti
potrebbe cadere.

SEHERREEE

1. R S ) PLIE(D) 5 Al 2 T FA 8] A L0ZZ oK
ity HRmPLEOHALSGT & EE, 1
P> M4 x 6 [ 25 BT (B) JEAT [ .

WERAREIE SRR S mPUE R, e BRI

W, AR KRR R PEARER SO,

1253 T8 (A BMFP ML, i SmBiE D)
bR 2 (AR BE 102k A S, IR SE
M4 x 6 [E Z5 AT (B)PEAT [ 2.

13.

FABIIE E AEMEP AL PLIE 3 (O & JE AR (6)
ERIPISCBHRIRET(T),  FE 5 mAR(ORE 2 510
PEORPRET, ARTFEIE2 R M0 E,
IRJE FIP SR ET (DI €.

=

WERAAE EBRE YIS, S P ARG FI 32
3, e REFOTHEE L.

HA KL—IL OB

M. 714 RL—u (D) &RMEOBREA 10mm (2
RHBEICT AL KL= D) & R¥= A
F74=v v Q) ITREIGYTRPDL EXR
M4 X 634 2 K (E)2RTEET D,

IR

ELLSFHELZ2ZNE FXa AV N7 4=v v XD

Y10 EE LI, A R L— L3R BN S 5,

12 F¥ a2 A M7 1 =v v (A) % MFP RIF &
DEIVEEL . HA FL—L (D) &IRE DKM
A 10mm 1272 D K DI B A M4 X 6 234
K EB)2 R CTHEET D,

MEP AR D L — A BUR (C) Dl (6) &

EELTHWDIER (N2 ARKENSTZARED,
W4 (6) A FL— (D) 124 THRRE
N2 HEY EOMEICHIT T ER ()2
AREEET 5,

FE
IELSFHEELRWE HA RL— L3 R L—X|ZH)
gjg'«é‘ax RF¥aAv b7 4=y vy BERDEN




Slide the document finisher to engage it with the
latch catch of the MFP. If the document finisher
and the MFP do not engage securely, perform
the following document finisher height
adjustment.

Adjusting the height of the document

finisher

1. Remove the front and rear covers (9) from
the document finisher (A) by removing two
screws (8) each.

Faire glisser le retoucheur de document pour
I'engager dans le pontet du loquet du MFP. Sile
retoucheur de document et le MFP ne
s’engagent pas correctement, effectuer le
réglage de hauteur suivant sur le retoucheur de
document.

Réglage de la hauteur du retoucheur

de document

1. Retirer les couvercles avant et arriére (9) du
retoucheur de document (A) en retirant deux
vis (8) sur chacun des couvercles.

Deslice el finalizador de documentos hasta que
enganche con el cerrojo del MFP. Si el
finalizador de documentos y el MFP no se
acoplan de manera segura, realice el siguiente
ajuste de la altura del finalizador de
documentos.

Ajuste de altura del finalizador de

documentos

1. Desmonte las tapas delantera y trasera (9)
del finalizador de documentos (A) sacando
los dos tornillos (8) cada uno.

Den Dokument Finisher verschieben, um ihn mit
dem RiegelschlofRbausatz des MFP in Eingriff
zu bringen. Wenn der Dokument Finisher und
der MFP nicht richtig ineinander eingreifen,
fuhren Sie die folgende Hoheneinstellung fir
den Dokument Finisher aus.

Einstellen der Dokument Finisherh6he

1. Die Vorder- und Riickabdeckung (9) nach
Entfernen von je zwei Schrauben (8) vom
Dokument Finisher (A) abnehmen.

Fare scivolare la finitrice di documenti per farla
innestare con il dispositivo di arresto del’MFP.
Qualora la finitrice di documenti e 'MFP non si
innestino saldamente, osservare la seguente
procedura di regolazione dell’altezza della
finitrice di documenti.

Regolazione dell’altezza della finitrice

di documenti

1. Rimuovere i pannelli anteriore e posteriore
(9) dalla finitrice di documenti (A) togliendo 2
viti (8) per ciascuno.

TR TR R B T MFPEML A H AR 2 |
WTIEME, TR PRI 10w L,

(AN S E]
1 HT A SU/MRENS), FRIRTAOTARA) IR
i 9,

F¥aAr b 742y v EATA REET
MFP ARAKD T~ F T HRIERE S/ 5, MR ICE
FELRWERIZ KD RXFa XA b T 4=y
VY DOEITHEEB I,

[FFEIAVFIAZwovDE STE]
1.ERXQ® K£2A%4L, F¥axy b7 g
— v () ORIEIAS—9) FTY 4T,




J

2. Loosen the two screws (10) on the rear right caster of the document finisher (A). Adjust the height
of the rear right caster by turning its adjustment bolt (13) using a cross-headed screwdriver so
that the axis of the pin (11) of the latch catch is aligned with the marking of the slot (12) of the
document finisher (A) when the document finisher (A) is joined to the MFP (viewed from the
machine front).

Note: Turning the adjustment bolt (13) clockwise lifts the document finisher (A), while turning it
counterclockwise lowers the document finisher (A).

. Desserrer les deux vis (10) de la roulette arriere droite du retoucheur de document (A). Régler la
hauteur de la roulette arriére droite en tournant son boulon de réglage (13) a l'aide d’un tournevis
cruciformede maniere que I'axe de la broche (11) du pontet du loquet soit aligné sur la marque de
la fente (12) du retoucheur de document (A) lorsque le retoucheur de document (A) est fixé au
MFP (vue a partir de I'avant de la machine).

Remarque: Si I'on tourne le boulon de réglage (13) dans le sens des aiguilles d’'une montre, le
retoucheur de document (A) s’éléve; si on le tourne dans le sens inverse des aiguilles d’une
montre, le retoucheur de document (A) s’abaisse.

. Afloje los dos tornillos (10) en la rueda trasera del finalizador de documentos (A). Ajuste la altura
de la rueda trasera derecha girando su perno de ajuste (13) utilizando un destornillador de punta
en cruz para que el eje del pasador (11) en el pestillo esté alineado con la marca de la ranura (12)
del finalizador de documentos (A) cuando el finalizador de documentos (A) esté unido a el MFP
(vista del frente de la maquina).

Nota: Al girar el perno de ajuste (13) en la direccién de las manecillas del reloj se levanta el
finalizador de documentos (A) y al girar contra las manecillas del reloj baja el finalizador de
documentos (A).

. Die zwei Schrauben (10) an der hinteren rechten Laufrolle des Dokument Finishers (A) I6sen. Die
Hohe der hinteren rechten Laufrolle durch Drehen ihrer Einstellschraube (13) mit einem
Kreuzschlitzschraubenzieher so einstellen, dass die Achse des Stifts (11) der Verriegelungsklaue
auf die Markierung des Schlitzes (12) des Dokument Finishers (A) ausgerichtet ist, wenn der
Dokument Finisher (A) an den MFP angesetzt ist (von der Geratevorderseite gesehen).
Hinweis: Durch Drehen der Einstellschraube (13) im Uhrzeigersinn wird der Dokument Finisher
(A) angehoben, wahrend er durch Drehen entgegen dem Uhrzeigersinn abgesenkt wird.

. Allentare le due viti (10) sulla ruota orientabile posteriore destra della finitrice di documenti (A).
Regolare I'altezza della ruota orientabile posteriore destra ruotandone il suo bullone di
regolazione (13) a mezzo di un cacciavite a croce, in modo che I'asse del perno (11) del
dispositivo di arresto risulti allineato ai contrassegni del foro (12) della finitrice di documenti (A)
una volta che la finitrice stessa (A) viene unita al’MFP (vista dal lato frontale della macchina).
Nota: Ruotando il bullone di regolazione (13) in senso orario si solleva la finitrice di documenti
(A), mentre ruotandolo in senso antiorario si abbassa la finitrice di documenti (A).

22T (A) 5 A DR A (Y 0 S8 45 8T (LO) 377 AL,

HRIT 8 (A SMFPENERE, O T HE ORI B DEEHR SR A DR D5 AT 8 (AR KL (12)
B 20 BEARXHE, 2L T B B R HIRET(13), X A MUV SR Y i BE AT R
H%i)%]iHﬂ;‘%ﬁ(lwﬁillﬁiﬁq‘ﬁﬁrﬁJ)i‘fEﬁ‘Hﬂ‘, PRI A (A), MAEBIN S 7 [ e SR E TN, T3
MRF .

2. F¥aA b7 4=y iy ) GHOF Y AZ—DETEE R (10)2 KEFED D,

RFa A M7 4=y ¥ () & WP ARKIZHRS U BT RLIZRIC, 7 v F2TRo e (11)
DHLA FFa A b7 4=y v (M) ORA (12) DLEICE S LI TTARNTA =%
MWTHEEMA L b (13) ZEIL AROX Y AZ—O@STREEB 25,

AR N (13) ZREIFMEICET E FXa A0 b7 4=y vy () A LAY RKEFHTmICE
TETNRD,




-

N . ™
. +:
/
Syl
L J

3. Adjust the height of the front right caster in the same manner as in step 2 so that each center of
the hooking portions (15) of the latch catch is aligned with the center of the two hooks (14) on the
document finisher (A) when the document finisher (A) is joined to the MFP (viewed from above).

4.

Adjust the height of the left two casters in the
same manner as in step 2 so that the right
and left gaps (16) between the document
finisher (A) and the MFP are the same at the
top and bottom when the document finisher
(A\) is detached from the MFP.

. Régler la hauteur de la roulette avant droite en procédant comme a I'étape 2, de maniére que
chacun des centres des parties d’accrochage (15) du pontet du loguet soit aligné sur le centre
des deux crochets (14) du retoucheur de document (A) lorsque le retoucheur de document (A) est
fixé au MFP (vue a partir du haut).

. Régler la hauteur des deux roulettes

gauches en procédant en procédant comme
al'étape 2, de maniéere que les écarts droit et
gauche (16) entre le retoucheur de
document (A) et le MFP soient identiques en
haut et en bas lorsque le retoucheur de
document (A) est détaché du MFP.

. Ajuste la altura de la rueda delantera derecha de la misma forma que en el paso 2 para que cada
centro de las partes de enganche (15) de cada pestillo esté alineado con el centro de los dos
ganchos (14) en el finalizador de documentos (A) cuando el finalizador de documentos (A) esta
nido a el MFP (vista de arriba).

. Ajuste la altura de las dos ruedas izquierdas
de la misma forma que en el paso 2 para
que las separaciones derecha e izquierda
(16) entre el finalizador de documentos (A) y
el MFP son la mismas en las partes superior
e inferior del finalizador de documentos (A)
esta soltado de la copiador o la impresora.

. Die Hohe der vorderen rechten Laufrolle auf die in Schritt 2 beschriebene Weise einstellen, so
dass die Mitte der Rasten (15) der Verriegelungsklaue auf die Mitte der zwei Haken (14) am
Dokument Finisher (A) ausgerichtet ist, wenn der Dokument Finisher (A) an den MFP angesetzt
ist (von oben gesehen).

. Die Hohe der beiden linken Laufrollen auf
die in Schritt 2 beschriebene Weise
einstellen, so dass die Abstéande (16) auf der
linken und rechten Seite zwischen dem
Dokument Finisher (A) und dem MFP oben
und unten gleich grof sind, wenn der
Dokument Finisher (A) vom MFP
abgenommen wird.

. Regolare I'altezza della ruota orientabile anteriore destra allo stesso modo descritto al passo 2, in
modo che ciascun centro delle parti di aggancio (15) del dispositivo di arresto sia allineato al
centro dei due ganci (14) della finitrice di documenti (A), una volta che la finitrice di documenti (A)
viene unita al’MFP (vista dall’alto).

. Regolare I'altezza delle due ruote orientabili
sinistre allo stesso modo descritto al passo
2, in modo che le distanze superiori e
inferiori a destra e a sinistra (16) tra la
finitrice di documenti (A) e 'MFP siano le
stesse una volta che la finitrice di documenti
(A) viene separata dal’MFP.

AT H(ASMFPEMIER, MO LI F )R HAR AT (14) SHAR RN LAS)F 0
HEXTHE, e 55 2 BROAR R 1A 7 126 e Tl B i MM o 1 8

4.

N T KT (A) MMFP E L 1 51T Bl 21T 4%
(A)SMFPEL 2 [0 72 45 1] F(16) RE 5 L T A
[FAT, %5 2 PR2ARIR I 7 s o VA 4 72 M P Ak
RIS L.

3. R¥xaAr b7 4=v ¥ (A) & MFP AMEIHERE L, E2vb R7ZRIC, R =
W) O7 v 7 D25 FTE T v FZIFROBI > TEE (15) OFLRED L5
LCAHAIDOF Y AX —DEIHEEBZ /),

AT 4=y
2 FIE 2 &[RRI

4.

R¥a A 7 4 =v v (A) & MPAREN
DYUIEELIZIFIC, R¥a AV T 4=y
T (A) & MFP AIKD A ORI (16) 23 1
TCHELLRD LI, FIE2 LFEERICLT
FERDF v AX—2 WO SHEELBZ 72
Do




5. Reattach the removed parts to their original
positions.

Connecting the signal cable

(monochrome machines only)

1. Connect the signal cable (17) of the
document finisher (A) to the MFP, pass the
cable through the clamp (G), and secure the
clamp by tightening the screw (18) of the
MFP.

The cable length to the clamp (G) must be
approximately 100 mm.

Connecting the signal cable

(full-color machines only)

1. Connect the signal cable (17) of the
document finisher (A) to the MFP.

5. Remettez les piéces enlevées a leur position
d’origine.

Connexion du cable d’interconnexion

(machines monochromes seulement)

1. Connecter le cable d’interconnexion (17) du
retoucheur de document (A) au MFP, passer
le cable par la bride (G), puis fixer la bride en
serrant la vis (18) du MFP.

La longueur du cable jusqu’a la bride (G) doit
étre d’environ 100 mm.

Connexion du cable d’interconnexion

(machines entiérement en couleurs

seulement)

1. Connecter le cable d’'interconnexion (17) du
retoucheur de document (A) au MFP.

5. Vuelva a instalar las piezas desmontadas en
sus posiciones originales.

Conexion del cable de seial

(s6lo para maquinas monocromaticas)

1. Conecte el cable de sefial (17) del
finalizador de documentos (A) en el MFP,
pase el cable por la abrazadera (G) y
asegure la abrazadera apretando el tornillo
(18) del MFP.
La longitud del cable a la abrazadera (G)
debe ser de unos 100 mm.

Conexion del cable de seial

(s6lo para maquinas a todo color)

1. Conecte el cable de sefial (17) del
finalizador de documentos (A) en el MFP.

5. Die entfernten Teile wieder an ihren
ursprunglichen Positionen anbringen.

AnschlieBen des Signalkabels

(nur Monochrommaschinen)

1. Das Signalkabel (17) des Dokument
Finishers (A) an den MFP anschliel3en, das
Kabel durch die Klemme (G) fiihren, und die
Klemme durch Anziehen der Schraube (18)
des MFP befestigen.

Die Kabellange bis zur Klemme (G) muss
ungefahr 100 mm betragen.

AnschlieBen des Signalkabels

(nur Vollfarbenmaschinen)

1. Das Signalkabel (17) des Dokument
Finishers (A) an den MFP anschlief3en.

5. Rimontare le parti rimosse nelle loro
posizioni originali.

Connessione del cavo del segnale

(solo per macchine in bianco e nero)

1. Collegare il cavo del segnale (17) della
finitrice di documenti (A) al’lMFP, fare
passare il cavo attraverso il morsetto (G) e
fissare il morosetto stringendo la vite (18)
dellMFP.
La lunghezza del cavo al morsetto (G) deve
essere di circa 100 mm.

Connessione del cavo del segnale

(solo per le macchine a colori)

1. Collegare il cavo del segnale (17) della
finitrice di documenti (A) al’lMFP.

5. #IT R IR AR B,

CERESBE - (RFEA

1. HEERITHOWNESHLELQT7), BRLFT
FEMG), R, FIRETQ8) ik &K,

2 e B AF(G) AL L 2% K 2975 100mm,

EZESHEEZ | WRTFEHEN
1. BETHANGE SHRELANEREEMFPEN L,

5 WV AL & el v IZER Y A1 5,

[EEBOESK:- £/ /0#OH ]

1. F¥a 2 v 7 0=v % (W) OFEF#H
U7 2L r—7 V%2757 (6) 1@
LT. B (18) CTHkiHT 5,

7707 (G) FTCOFr—7NL0OEIIFK
100mm {295 Z &,

[EERDEH: TILHT—HDH ]
1. F¥ax b7 0=y v (A) ODESH
(17) % MFP ARIRIZHERET 20

10



Operation check

1. Insert the MFP power plug to the wall outlet
and turn the main switch on.

2. Make test copies and check that the
document finisher (A) operates correctly.

Vérification du fonctionnement

1. Insérer la fiche d’alimentation du MFP dans
la prise murale et mettre I'interrupteur
principal sous tension.

2. Effectuer des copies d’essai et vérifier si le
retoucheur de document (A) fonctionne
correctement.

Comprobacion operacional

1. Inserte el enchufe del MFP en el receptaculo
de la pared y encienda el interruptor
principal.

2. Haga copias de prueba y verifique que el
finalizador de documentos (A) funciona
correctamente.

Betriebstest

1. Stecken Sie den Netzstecker des MFP in die
Netzsteckdose ein und schalten Sie den
Hauptschalter ein.

2. Machen Sie Probekopien, um
sicherzustellen, dass der Dokument Finisher
(A) einwandfrei funktioniert.

Controllo del funzionamento

1. Inserire il cavo di alimentazione del’lMFP
nella presa di rete e quindi premete il
pulsante generale di accensione.

2. Eseguire copie di prova e controllare che la
finitrice di documenti (A) funzioni
correttamente.

[BIAS{E]
1.8 MEP AL 19 i 5 Sk I A 3L, PR B

HLJE
2.0 R H AT R A IS E R T IEH,

[ EhiEmEsR ]

1. MFP RIEDEIR T T V& artr MIELIA
FAA VAL v TFH ONIZT B,

2. TARIE—EBIRW  FXa A M7 g
=y vy (A) BDIEFICEET 5 Z & 2R

o

11



MEMO






2005. 11
305H156710 Rev.1.0



